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Q.52 The altitude AD ofa AABC, in which ZA 1s obtuse
and AD = 10cm. If BD = 10 cm. and CD = l()ﬁ
cm., then find ZA.

(A) 105° (B) 115° (C) 110° (D)95°

Class Time :- 9:00 AM
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Q.53 How many numbers less than 1000 are multiples of both of 10 and 13 ?

1000 T FH fhal TBTY 10 3R 13 &I H1 U 87

(A) 5 (B)7 (C)8 (D)9

Class Time :- 9:00 AM
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Q.57 In an examination, there were 1500 boys and 1100 girls. 60% the boys and 50% of girls are
passed. Find the percentage qf the failed candidates? o

U URIETH 150 a@% 1100 TfSATe | 60% TSP 3T 50% ASTHaT U 8l Sild
g | ﬁmaﬂm&mmmmﬁﬁ |

(A)46.40% (B) 36.36% (C)44.23% (D)49.60%
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Q.58 The area of a circle is increased by 22 cm? when its radius is increased by 1 cm. find the
rcle:

gﬁ%gz%zwm%mwm1ﬁwam?ﬁ%lﬁaﬂqﬁ

(A) 7cm (B)9cm (C)3cm (D)5cm
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A 1 B) ; ©)3 (D)2
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Q.61 If a sphere of radius r is divided into four identical parts., then the total surface area of the four
partsis :

U%ﬁG%Tr%WJﬂﬁ B IR FHM U H fauTiord fear Siar g, @ R Yl Sl pa g8 1

(A)4mr? (B)2mr? (C)8mrr? (D)3mr?
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Q.62 Ifx=21andy=20, then the value of
2 -yiaxy
X% -y
(A) 1 (B)41 (C) 441 (D)400
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Q.63 Find the least number which when divided by 2, 3,4, 5,6 leaves remainder 1 in each case but
when divided by 7 leaves no remainder?

R SR R R,

(A)60 (B) 293 (C)300 (D)301
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Q.64 What is the ratio of two successive increases of 5% each to two successive discounts of 6%

euatx’cﬂr%S% D1 &l A Tl 3R 6% UID B &l HIHD Yl bl SUTd FT 87

(A) 9234:1164 (B) 1025: 1143 (C) 1011:1232 (D) 1025:1164
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Q 65 A boat goes 40 kilometer upstream in 8 hours and 36 km downstream in 6 hours. The speed of
boat in still water is

]'}Oh 19 ﬂ%@h OTddd 40 fohHT 8 T¢ H 3R 36 fhHT URT b 3% 6 °c H llcli g | i oid

(A) 6.6km/hr (B)5,5km/hr (C) 6km/hr (D)5km/hr
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Q 66 In a class ratio of boys and girls was 12:7. When 120 boys and 60 girls left the class ratio of

boysalj[i)%g irls become 8:5, Find the number of boys in class initially
?IE’% T 3T 12:7 UTI 9T 120 60 TG[HTl HETDIS ad
%?ﬁa@;ﬁaﬁq BT U 8:5 Bl ST ¢ | URY H el ?E%ﬁﬂ@qlmd

(A)240 (B)480 (C) 360 (D)450
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http://www.mahendras.org/

/@ Watiendra’'s / / FOR MQRE DISCOUNT VISIT WWw.mahendras.org & USE PROMO CODE : E04613 /

Q.67 The gumber of djgg naIsmaél-& Sis’?
Qb 21-TT4 %]

(A)198 (B) 189 (C) 176 (D)178
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Q 68 A248 m Iong train running at a speed of 108 km/h overtook another train of length 112 min

36 seconds. What is th speed of the other train?
108%"&[ gagsrs c36qbeH 112 MR Al TH
EFCIT

(A)66km/hr (B) 70km/hr (C) 72km/hr (D)75km/hr

Class Time :- 9:00 AM
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Q.69 The product of John’s age 7 years ago with his age 2 years later is 52. Then John’s present age

If‘rr‘lﬁrﬁwtftlgﬁﬁ&ngaﬁ‘\fzaﬁaﬁﬁ&nqml U 52 € | A1 SIi- &) daHH 3R 8

(A)10y (B) 11y (C) 12y (D)15y
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Q.70 The cost price of 27 articles is the same as the selling price of x articles. If the profit is 12.5%,
then find the value of x.

27 a5 Y e x &3 & AP Yo & AHF 81 S ATH 12.5% 8, <t x BT
nﬂaﬁaﬂa%m

(A)20 (B) 30 (C)28 (D)24
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Q 71 Out of 6 numbers, the sum of the first 5 numbers is 7 times the 6th number. If their average is
136, then the sixth number is:
%%g[ﬂw Jgﬂl-;f Ugall 5 T3 BT TN B3 AT BT 7 T 8 | fe IehT 3iId 136 8, Y

(A)116 (B) 102 (C) 96 (D)84
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Q.72 Find the mode if mean and median are 4 and 5 respectively

I8AD JTd PIToTC Tfe ATH 3R HITBTHHT: 4 3R 58|

(A) 5 (B)7 (C)9 (D)11
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Q73 Product of two co— prime numbers is 221. Their LCM should be.

&l 8- 3UTST T=AT3H T UHHA 221 8 | 39HT LCM BHT TR

(A) 1 (B) 221 (C) equal to their H.C.F

Class Time :- 9:00 AM
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Q 74 3 men or 5 women can do a work in 12 days. How long will 6 men and 5 women take to finish
the work?

W&g@ﬁﬁﬁ%@ﬂﬁuﬁﬁﬁwméwwaﬁ?smaﬁﬁ

(A) 20D (B) 10D (C)4D (D) 15D
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/Q.75 A man travels for 5 hours 15 minutes. If he covers the first half of the journey at 60 km/h and N

rest at 45 km/h, Find the total distance travelled by him. .
&n?:é%aé & gl HIT Bl 60 fhHit et ot
| 3R

|

%ﬁs%tﬁ/ﬁ%mﬁw Iatrao%gm | SRITT B TS Hd gl IId

(A) 250 km (B) 270km (C) 325km (D)340km
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